Network energy

Easier to switch between attractor basins in Scz,
but harder to make them more stable
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Confidence in jar

Confidence in jar

Dataset 1: Baseline

Dataset 1: Follow-up
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Parameters

Learning
rate
Belief

instability

“‘which jar

do you

think it is?”

Red quite Blue quite
Red sure sure Not sure sure Blue sure
Response

stochasticity

Belief

re jar



exp(0), k; =exp(1), k; = exp(1.2)

Ky = exp(-1), k;
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Initial belief (i1;) that jar = 1 (blue)
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Density

Dataset 1: Baseline
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Dataset 1: Follow-up
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